C Y Legend Series
- Double Hung (Operating)

WINDSOR  Parts |dentification

P e

05/17



{

#

Legend Series
Double Hung (Operating)

1 » . .
WINDSOR — Parts |dentification
Image Item 2 Description Color / Finish / Size Spec Part #
N White 2382700
i’ I i ) Champagne 2382701
)= s 1 Lock with Screws Bronze 2382702
-0 Quly 13 - Current) Satin Nickel 2382704
Faux Bronze 2382734
- Lock with Screws
(1905 - July 15) 558011
White 2382690
R B ) Champagne 2382693
T.. — | 2 Ke;tjg:fgr-m Scre;«s Bronze 2382692
=/ Curent Satin Nickel 2382694
Faux Bronze 2382691
Keeper 558012
—— (1995 - July"15)
| e
- i | ]
Keeper Screws
(#6 x 1" Screw) 558008
LH 557997
= e 3 Upper Tilt Latch (LH Shown) RH 557996
Upper Tilt Latch Housing LH 557999
- - (LH Shown) s 557998
N : T . 4
) ] Upper Tilt Latch Housing Screws
(#8 x 1 1/4" Screw) 08117
White LH 2382720
Champagne LH 2382722
Bronze LH 2382724
Satin Nickel LH 2382728
Lower Tilt Latch (LH Shown) Faux Bronze LH 2382736
5 wi Screws
{July 15 - Current) White RH 2382721
Champagne RH 2382723
Bronze RH 2382725
Satin Nickel RH 2382729
Faux Bronze RH 2382737

05/17




Legend Series
) Double Hung (Operating)

\)(/'M)‘*UR Parts |dentification

- S —

Image Item # Description Color / Finish / Size Spec Part #
Lower TIt Latch (LH Shown) LH 557995
Y Y 5 (Dec. '04 - July'15) RH 557994
S . Tilt Latch Screws
(#6 x 3/4" Screw) Ll
Screen Grommet
(Qty. 4) 590078
Not Shown on Assembly Dwg
D LH 558023
Tilt Pin (LH Shown) RH 558022
6 Non-EZ Tilt Pin 588202
TitPin  Non-EZ Tilt Pin Tilt Pin Screws 2380895

(#7 x 3/4" Screw)

Jambliners to be ordered per the following

ﬁ f information: Color, LH or RH, Window Size, and EZ
i Jambliner (LH & RH) Tilt or Non-EZ Tilt. NOTE: EZ Tilt units will have tilt

latchs ( Iitem # 4) on the top of the inside or bottom

sash.

. White - 20" 531212

{ ) White - 24" 531213

- JE 8 Parting Stop White - 28" 531214

L White - 32" 531215

White - 4' Lineal 531210

9 Sash Weatherstrip 538010

24" (Glass Size) 538017

10 Sash Checkrail Weatherstrip 28" 538018

(After 2/6/17) 32" 538019

44" 238020

05/17 3




{
/

Legend Series
Double Hung (Operating)

WINDSOR  Parts |dentification
Image Item # Description Color / Finish / Size Part#
14" (Glass Size) 2390152
16" 2390153
20" 2390154
22" 2390155
24" 2390156
Side Outside Stop 26" 2390157
(After July 2015) 28" 2390158
30" 2390159
o 2390160
34" 2390161
36" 2390162
11 8'-0" Lineal 2390006
16" (Glass Size) 2390139
20" 2390140
24" 2390141
Head Outside Stop sl b
(After July 2015) 30" 2390144
a2 2390145
36" 2390146
8'-0" Lineal 2390006
‘ ‘ 12 Glass Stop 12' Lineal Length 2390002
Exterior Casing (Head & Sides) T3
13 (Stis Axcasaciy sacion for ciharoplioes) 14' Lineal Length 2390003
Sill Nose "
14 P Saon 56 IS GRS 14' Lineal Length 2390019
05/17 4 LDH




Legend Series
; Double Hung (Operating)

WINDSOR  Parts |dentification

e T -

Image Item # Description Color / Finish / Size Spec Part #
16" Pine (Glass Size) 210083
20" Pine 210084
22" Pine 210085
24" Pine 210086
26" Pine 210087
Side Inside Stop 28" Pine 210088
30" Pine 210089
32" Pine 210090
34" Pine 210091
36" Pine 210092
15 13' Pine Lineal 291094
16" Pine (Glass Size) 210021
20" Pine 210022
24" Pine 210023
26" Pine 2480272
Head Inside Stop 28" Pine 210024
30" Pine 2480235
32" Pine 210025
36" Pine 210026
13' Pine Lineal 291094
16" Pine (Glass Size) 2530187
20" Pine 2530188
24" Pine 2530189
26" Pine 2480288
28" Pine 2530190
30" Pine 2480251
5 32" Pine 2530191
: d 36" Pine 2530192
A 16 Sill Inside Stop 40 Pine 2530193
8' Pine Lineal 2530200
11" Alder Lineal 2530200-A
8' Fir Lineal 2530200-F
11" Pine Lineal - High Performance 2370093
8' Alder Lineal - High Performance 2370093-A
6' Fir Lineal - High Performance 2370093-F
Window Opening Control Device .
(Includes su?lr.ee. scgws & Instructions) White 9410020
Field Applied Only
Not Shown on Assembly Dwg
05/17 5 LDH



Legend Series
- Double Hung (Operating)

-

INDSOR  Parts |dentification
Tt 3T
Jambliner
(Item £ 5)
EZ Tilt Jambliner Non-Tilt Spring Jambliner
Strength | Color Glass Height LeftHand | RightHand | LeftHand | RightHand | Shoe Color
3> 588696 588697
. . 34" 588698 588699 .
Light — 36" 588702 588703 —
36"/ 24" 588710 588711
3> 589696 589697
. . 34" 589698 589699 .
Light Beige 36" 589702 589703 White
36"/ 24" $89710 589711
1 588500 588601 588156 588157
16° 588502 588603 538158 588159
18° N/A N/A 588160 588161
20 588604 588605 588162 588163
2 588606 588607 585164 588165
24" 588508 588609 588166 588167
. 26 588610 588611 583168 588169 .
Shmdant | e 28" 588512 588613 588170 588171 .
30 588514 588615 538208 588209
32 588516 588617 588172 588173
34 588618 588619 588174 588175
36" 588620 588621 588176 558177
24" | 36" 588522 588623 588178 588179
36"/ 24" 588704 588705
e 589600 589601
16" 589602 589603
200 589604 589605
2 589606 589607
24° 589608 589609
26 589610 589611
Standard | Beige 28 589612 589613 White
30" 589614 589615
32 589616 580617
34" 589618 589619
36" 589620 589621
24" 36" 589622 589623
36"/ 24" 589704 589705
@ 588604 588625
16° 588526 588627 588180 588181
18° N/A NIA 588182 538183
20" 588528 588629 588184 588185
2 588530 588631 583186 588187
24" 588532 588633 585188 588189
. 26" 588534 588635 583190 588191
HeawyDuy | Whie 28 588636 588637 588192 588193 Dlack
30" 588638 588639 588210 588211
32 588640 538641 585194 588195
34" 588542 588643 583196 588197
36" 588644 588645 558198 588199
24" 1 36" 588546 588647 588200 588201
36" 1 24" 588708 588709 588212 588213

05/17

LOH




Double Hung (Operating)

- F
WINDSOR  Parts |dentification
Strength | Color Glass Height LeftHand | RightHand | LeftHand | RightHand | Shoe Color
14 589624 589625
16° 589626 589627
20° 589628 589629
2 589630 589631
24 589632 589633
2" 589634 589635
HeavyDuty | Beige 28 589636 589637 Black
30 589638 589639
32 589640 589641
24" 589642 589643
36" 589644 589645
24" 1 36" 589646 589647
36" 1 24" 589708 589709
4 588648 588649
16° 588650 588651
20° 588652 588653
2 588654 588655
24 588656 588657 588086 588087
26 588658 588659 588088 588089
E’"guwHea"’ White 28" 588560 588661 588090 588091 Blue
30" 588662 588663 588092 538093
3 588664 588665 588094 588095
24" 588666 588667 588096 588097
36" 588668 588669 588098 588099
24" 1 36" 588670 588671
36" 1 24" 588706 588707
e 589648 580649
16" 589650 589651
20° 589652 589653
2 589654 589655
24° 589656 589657
26" 589658 589659
E’“’gmy“eaw Beige 28° 589660 589661 Blue
30 589662 589663
3 589664 589665
24" 589666 589667
36" 589668 589669
24" 136" 589670 589671
36" 124" 589706 589707

05/17

LDH




.

{

- ' 4

Legend Series
Double Hung (Operating)

WINDSOR  Parts Identification
Strength | Color Glass Height LeftHand | RightHand | LeftHand | RightHand | Shoe Color
o 588504 538695
20" 588672 538673
2 588674 588675
24 588676 588677
26" 588578 588679
Super Heavy . 28 588650 588681
Duty White 30" 588652 588683 —
32 588584 538685
24" 588636 588687
36" 588588 588689
24" 1 36" 588690 588691
36"/ 24" 588592 588693
T 589694 539695
20" 589672 589673
2 589674 589675
24 589676 589677
26" 589678 589679
S Sy . 28 589650 589681
Duty Beige 30 589682 589683 oy
32 589684 589685
24 589686 589687
36" 589638 589689
24" 1 36" 589690 539691
36"/ 24" 589692 589693
S E— 3 589750 589751
Spring 26" 589752 589753

05/17

LDH




	Legend Double Hung
	LDH Parts



